TD développements limités

Exercice 1
(468)

Déterminer les développements limités suivants :
L.DL3@)d€h1<I2+1>
z+1
2. DL3(0) de In(1 + sinx)
3. DL3(1) de cos(In(z))

Exercice 2
(469)

Déterminer les développements limités suivants :
1. DL3(0) de eV!T®

2. DL3(0) de In(1 + v1 + x)
3. DL3(0) de In(3e” +e77)

Exercice 3

(471)
Déterminer les développements limités suivants :

1. DL3(7/4) de sinx

Inxz
2. DL4(1) de ?

3. DL5(0) de sh z ch (22) — ch x.

Exercice 4

(472)
Déterminer les développements limités suivants :

1. DLy(0) de (14 z)'/®
LDM@MMHC??

3. DL4(0) de In < sh x>

X

Exercice s
(473)

Déterminer les développements limités suivants :
1. DL3(0) de In(1 + %)
2. DL3(0) de In(2 + sin x)
3. DL3(0) de v/3 + cosx

Exercice 6

(474)
Déterminer les développements limités suivants :

PCSI2



In(1 + )
et —1
arctan x

1. DL3(0) de

2. DL5(0) de

tanx
r—1

3. DLy(1) de

Inx

Exercice 7
(478)

Déterminer les développements limités suivants :

r —sinz
. DL de ———
! 3(0) ¢ 1 —cosx

sin(z)
. DL —_—
2 2(0) de oxp(z) -1
rzchz— shz

. DL
3 3(0) de S —

Exercice g
(485)

Déterminer les développements limités suivants :

r+1
2. DL3(0) de v/3 + cos
3. DLy(0) de (1 + 2)Y/*
In(1 + )
e? —1

2
1. DL3(0) de In <x + 1>

4. DL3(0) de

PCSI2



